more™* (2) more™ " (2) m’ (2) more™ " (2) more™ " (2)
Write down Write down Answers  Write down Write down
(a) the value of 367" (a) the value of 36" (a) the value of 36~ (a) the value of 367!
1
................................................ @) &
(b) the reciprocal of 2 (b) the reciprocal of 2 (b) the reciprocal of 2 (b) the reciprocal of 2
1
................................................ ®) %
(c) the value of 67* (c) the value of 67* (c) the value of 67* (c) the value of 67*
1
................................................ 95
(d) the reciprocal of 25 (d) the reciprocal of 25 (d) the reciprocal of 25 (d) the reciprocal of 25
................................................ W%
(e) the value of 367 (e) the value of 367" (e) the value of 367 (e) the value of 367"
1
................................................ R
(f) the reciprocal of 2 (f) the reciprocal of 2 X (f) the reciprocal of 2 (f) the reciprocal of 2
................................................ <f> 2
(g) the reciprocal of 16 (g) the reciprocal of 16 (g) the reciprocal of 16 (g) the reciprocal of 16
@)
(h) the value of 100~ (h) the value of 100~ . (h) the value of 100~ (h) the value of 1007
................................................ . 100
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